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Question Number : 1 Question Id : 3666943201 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
If the domain of the function

flx)=log, ( 4x% +11x + ﬂ) +sin (4x +3)+ cos [

36| a + ] is equal to

Options:
3666949971,
54
3666949972.
3666949973, °°
79
3666949974,

10x +6

5

} is (@, F], then
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Question Number : 1 Question Id : 3666943201 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2 CARI
(@, 12,1 36 |a+f| R 7

Options:

-

45

366694997/1.

=

o4

3666949972,

3666949973, °°

T2

3666949974,

Question Number : 2 Question Id : 3666943202 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The number of real roots of the equation .:u:‘:-:‘ - Blx+2[+ 6=0, 1s
Options:
3666949975, ©
3666949976,
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0

3666949978,

Question Number : 2 Question Id : 3666943202 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FHIBRT x|x| - 5|x + 2|+ 6 =0 & AP Tl B! TS &:
Options:
6
3666949975.
3666949976, °
3666949977, °
3666949978,

Question Number : 3 Question Id : 3666943203 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[ (2-F+2F - - | . _
If the set { Re _ — (:ze T, Re(z)=3} is equal to the interval
Z2—3z+09z2 |

(a, f]. then 24( S —a) is equal to

Options:

a
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g
=]

3666949979,

3666949980. .

3666949981, 0

3666949982,

Question Number : 3 Question Id : 3666943203 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

o = Bl -
qﬁ'ﬂﬁaﬁﬂﬂetz ki E]ZEEic,RE[E}:S?W

2—dz+dz

(a, f] IR E, Tl 24(f—a)PIHAAE:

Options:

I
=1

3666949979,

3666949980. SU

3666949981. -

3666949982, -

Question Number : 4 Question Id : 3666943204 Question Type : MCQ Option Shuffling : Yes Is
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let the determinant of a square matrix A of order m be m —n ., where m and n
satisfy dm+n=22 and 1Tm+4n=93. If def.(n. adj [ﬂdj[mﬂ])] = 395°6°,

then a + b+ ¢ is equal to

Options:
3666949983, o4
3666949984, 0
3666949985, U1
109
3666949986.

Question Number : 4 Question Id : 3666943204 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

HHT m B & U 91 3THE A BT IRIUE m —n ©, S8l m Ul n FHIHIO]
Am+n =22 Y 17m + 4n = 93 B JJ¥ B o
qic det [n. acl] { adj(mA } ) } =395 8 W a+b+cNE B

Options :
3666949983, 4

3666949984, O
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101

109
36669499860.

Question Number : 5 Question Id : 3666943205 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Let the system of linear equations
—x+2y-—-9z="17
—Xx+ay+iz=49
—Zx+y+oz=8
—dx+y+13z=4
has a unique solution x=¢a, y=f, 2=y. Then the distance of the point
(e, B, ) from the plane 2x —2y+2=4 is

Options :

3666949987,
9
3666949988.
11
3666949989.
3666949990. -

Question Number : 5 Question Id : 3666943205 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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Correct Marks : 4 Wrong Marks : 1

HH1 @S s Fhr

—x+2y—-92=7

—x+3dv+iz=9

—2x+y+0z=8

—dx+y+liz=4

&1 3gdld 80 x=a,y=pf.z=y 8l d@ g (a B y) & YHdW
2x-2y+z=A 4l &:

Options:

3666949987. !

3666949988. .
11
3666949989.
13
3666949990.

Question Number : 6 Question Id : 3666943206 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The total number of three-digit numbers, divisible by 3, which can be formed
using the digits 1. 3, 5, B, if repetition of digits 1s allowed, 1s

Options:

3666949991. -
20

3666949992,
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21

3666949993.

22
3666949994,

Question Number : 6 Question Id : 3666943206 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
af 3i] T gRIGR BT ogwf 8, 1 of1 1, 3, 5, 8 F AT, 3 v H-9f)

! g3 Il G+ dTell H&A13{1 Dl Hdl TS 6
Options:
3666949991,
20
3666949992.
21
3666949993
22
3666949994

Question Number : 7 Question Id : 3666943207 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

)

10 20 .
Let (ﬂ.+EJ;t+m:“) = Zpi:r*, a,b,ceM. If p =20 and p, =210, then

1=
&collegedumaa
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Options:

3666949995.

3666949996.

3666949997,

3666949998.

b

Question Number : 7 Question Id : 3666943207 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HMHT [{I +bx+ﬁxg)

2(a+b+c) R §

Options:

3666949995.

3666949996.

3666949997.

3666949998.

10

Z _nr-::::f a, b, ce N%H aie p; =20 dil p, =210 %F, |

~
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Let A; and As be two arithmetic means and (r, Gy, (G5 be three geometric

—— " s - - e I _
means of two distinet positive numbers. Then Iirf + (:; + {gé + (G5 15 equal

to
Options:
3666949999, |
(A +A,) Gf:: G'«}g

36669410000. '

9

A + AE' i {_1 (-"
36669410001, (A1 +Az) GGy
. g ; B

36669410002. | |

Question Number : 8 Question Id : 3666943208 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
a1 a1 44 e S=mefl & & 9ok H1e A, a9l A, 3R OF TUIRR W1
Gy, Gy, Gy 81T Gy +Gy + G5 + GG TR

Options:
3666949999. |

A, + A VG G?
36669410000. (4 +42) G G5
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{' A + Ay '}2 (1 (g
366694100017, |

2(A, + A, )GI G5
36669410002, =

Question Number : 9 Question Id : 3666943209 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Let |x] denote the greatest integer function and
x)=max/1+x+[x]. 2+x. x+2[x]! 0<x<2.Let m be the number of
- L )

points in [0, E] where f 1s not continuous and n be the number of points in

[
T i
4

(0, 2), where [ is not differentiable. Then (m+n) +2 is equal to

Options:
36669410003, =
9
36669410004.
36669410005, °
11
36669410006.

Question Number : 9 Question Id : 3666943209 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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AT [ ] WEdH QUG e © adl f(x) = max{1+x+[x], 2+x, x+2[x]},
0<x<28IHMA [0, 2] # 3 fdgsfl, &6l f ¥dd el 8, B G m g, T3
feigafl, SIgT f sfadpa-a e 8, T ESN n 8l A (m+n)” +2 W&

Options :

I

36669410003.

3
36669410004.

36669410005.

36669410006. -

Question Number : 10 Question Id : 3666943210 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 |
[f,[[] il — dx:llogf,[a+1],a,ﬁ:ﬁﬂ?then a*- g
[5+2x—2x5)(1+e‘“‘ -‘}) a p

18 equal to
Options:
—21
36669410007.

36669410008,

36669410009, 1
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Question Number : 10 Question Id : 3666943210 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

l =
?IFE{J‘G_ ql ——— if:llog{“““l]r a. f>0 2@ ot - gt
{5+2.1‘—E:::“) I-[.-Eg-l:“_ I}) x i
TR &
Options:
21
36669410007.
36669410008,
36669410009, 17
21
36669410010.

Question Number : 11 Question Id : 3666943211 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Let x =x(y) be the solution of the differential equation

2(y+2)log, [3f+2]ffx+(x+4—2h}gﬁ (y+2))dy=0, y>-1

with x(e'zl —:2) =1]1. Then :m(eﬁ —2) is equal to

MrntiAanec »
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36669410011.

36669410012.

3666941001 3.

36669410014.

10
3

32
9

Question Number : 11 Question Id : 3666943211 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2[};4_2] log,. [_}'+E‘;)dx—|-(r+al —Elugi,{erE)]u{}'

=

BIEd x =x(y) gldl :r(ie.ﬁ —E) SR 6

Options:

36669410011.

36669410012.

3666941001 3.

36669410014.

a

10
5

O, v>-1, x (ffl - .Z)

1

~

S
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32
3

Question Number : 12 Question Id : 3666943212 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

If (@, f) is the orthocenter of the triangle ABC with vertices

A(3,-7), B(-1,2) and C(4, 5), then 9a -6+ 60 is equal to

Options:

o
o

36669410015.

36669410016. "

36669410017.

36669410018, U

Question Number : 12 Question Id : 3666943212 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afe 2iet A(3, —7), B(-1, 2) @4 C(4, 5) & By ABC BT 085 (a, ) ©.
dl 9 — 6 + 60 S &:

Options:

9
36669410015. ~
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a0

36669410016.

36669410017,
10

36669410018.

Question Number : 13 Question Id : 3666943213 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

" - 2 9 .
The number of common tangents, to the circles x° +y~ —18x—-15yv+131=0

& 2 g - 5
and x“ +y" —6x—-6y—-T=0,1s

Options:

36669410019,
36669410020, -
36669410021,
36669410022

Question Number : 13 Question Id : 3666943213 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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Instruction Time : 0
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gdl x%+y° -18x—-15y+131=0 Y x*+y*—-6x-6y—-T=0 & IJWY

Wy Y@ & e 8
Options:
36669410019, |
36669410020, =
36669410021, °

1
36669410022.

Question Number : 14 Question Id : 3666943214 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let the foot of perpendicular of the point P(3, —2, —9) on the plane passing
through the points (=1, =2, =3), (9, 3, 4). (9, =2, 1) be ({}(mﬂ, B, ;lf']‘ Then the

distance of ¢ from the origin is

Options:
36669410023, V9
36669410024, Vo©
36669410025, V49
19
36669410026
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Question Number : 14 Question Id : 3666943214 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
AT fdg P (3, -2, —9) &1 Tegsil (-1, -2, -3), (9, 3, 4), (9, -2, 1) Y §IHR WM Tl
A R A BIUE Q(e, B, 7) Bl Al YEEE ¥ @ B T &

Options:
36669410023, V9O
36669410024, V9°
929
36669410025, Y2
19
36669410026.

Question Number : 15 Question Id : 3666943215 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Let S be the set of all values of A . for which the shortest distance between

ho fines X2 Y 3 _ 26 ¥ta ¥ 20 <13 Thes 8 Y Al is
0 A 1 3 4 0 =
equal to
Options:
36669410027, “V=

a
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36669410028, “V4

36669410029, U6

36669410030. %

Question Number : 15 Question Id : 3666943215 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
o 4 % e ol s et YA oY "9 _2+0 4o

0 1 1
o 2. 10 - ﬂzaﬂ & ST gl 138 FrEgET s 1 Al 8| Y 4| wwE
e} =8 AES
Options:

36669410027, “U=

36669410028, V4

36669410029, ~VO

08
36669410030.

Question Number : 16 Question Id : 3666943216 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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Correct Marks : 4 Wrong Marks : 1

Let S be the set of all (A, #) for which the vectors At —j+k, i +2] + pbk

and 3 —4}+5F:L. where A— gy =25, are coplanar, then z BU[AE + ,Ug) 1§

(A, p)eS
equal to
Options:
36669410031, =12V
29
36669410032, 221V
36669410033, =<9V
7 5% i
36669410034, 'V

Question Number : 16 Question Id : 3666943216 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
o wft () Eed fw W™ Ai-j+k,  1+2)+uk

dYl 3t —4j+5k, W8 A-u=5 § Wedad & @ =g S §,
z BD(AE+;rE)W%

(4, p)ES
Options:
36669410031, =1V
i}l-
36669410032, =1V

]
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36669410033, 2290

237
36669410034, 'V

Question Number : 17 Question Id : 3666943217 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let ABCD be a quadrilateral. If E and F are the mid points of the diagonals
AC and BD respectively and (AB - B{“] - [AD -DC } ~k FE . then k is equal to

Options:

36669410035.

36669410036, =

I

36669410037.

36669410038.

Question Number : 17 Question Id : 3666943217 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HHT ABCD Uah dIgHd ¢ fg fadull AC a4 8D & ey fdfg HH=: £ TUI F B, 3R

——— e

(AB-BC)+(AD-DC)=k FE, @ k SRR &

Options:

a
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36669410035.

36669410036. ~

I

36669410037.

36669410038.

Question Number : 18 Question Id : 3666943218 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A bag contains 6 white and 4 black balls. A die 18 rolled onee and the number
of balls equal to the number obtained on the die are drawn from the bag at
random. The probability that all the balls drawn are white 1s

Options:
1
36669410039, °
11
36669410040, ~V
9
36669410041, U
1
1
36669410042,

]
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Question Number : 18 Question Id : 3666943218 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U Ud H 6 e dul 4 H1di Tic &1 Uh U U g Bhdh] §dl & 99T 4ol § 8 U
TR W S & &R 7 gresal Aot ot €| et 18 9l 73 & 9 g4

&1 UIfiEdl &
Options:
1
36669410039, °
11
36669410040, U
9
36669410041, U
1
A
36669410042,

Question Number : 19 Question Id : 3666943219 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The mean and standard deviation of 10 observations are 20 and 8 respectively.
Later on, it was observed that one observation was recorded as 50 instead of
40. Then the correct variance 1s

Options:

36669410043, 11

L]
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Ly
36669410044, '~

36669410045. &

14
36669410046.

Question Number : 19 Question Id : 3666943219 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

10 W& & [ Tyl 9SG 3909 UL 20 9T 8 €1 915 | g8 Ul T & us
TI&{0T Sl 40 & TIF X 50 forar a1 41| df 9el YRl 6

Options:

36669410043, 1

‘3
36669410044, -

36669410045. -

14
36669410046.

Question Number : 20 Question Id : 3666943220 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Negation of p A (q;\ ~ (p A q}] 15

Options:

36669410047.

36669410048.

36669410049.

36669410050.

~(pvaq)

pvq

(~(prg))rg

(~(pra))v s

Question Number : 20 Question Id : 3666943220 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
p ﬁ[qa ~(prq)) CARELDERS

Options:

36669410047/.

36669410048.

36669410049.

36669410050.

~(pva)

pPvy

(~(prg))rg

(~(prg))vp

~
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Mathematics Section B

Section Id : 366694179
Section Number : 2

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : b

Section Marks : 20

Enable Mark as Answered Mark for Review and

Clear Response: ves
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 366694179
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 21 Question Id : 3666943221 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Let A={1,2 3, 4} and R be a relation on the set Ax A defined by
R= {[(r:_r b), (e, d]] 20+ 3b=4c+ "}d} . Then the number of elements in R is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

a
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Question Number : 21 Question Id : 3666943221 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HFT A ={1,2, 3,4} §TUT Ax A WRUP &Y R Y UHR uRHINT 8
R= {((u, b), (c. d]] 2a+3b= 4{'+5d"

dl R # 3fagdl &1 H&Al T

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 22 Question Id : 3666943222 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A person forgets his 4-digit ATM pin code. But he remembers that in the code
all the digits are different, the greatest digit 15 7 and the sum of the brst two
digits 1s equal to the sum of the last two digits. Then the maximum number of
trials necessary to obtain the correct code 15

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

a
&collegedumaa
India’s largest Student Review Platform

S



Question Number : 22 Question Id : 3666943222 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U SAfdd YT 4-3fh1 BT ATM 09 D18 Ya F1dl 81 I 34 T1< & T PIs & WR
3 [UA &, HaH 931 3 7 & dYl UYH &l 3| &1 g 3ifdH 2 3l & I & FeR
1 U8l BIS U B & U awueh e dH Uarkl i TEl &

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 23 Question Id : 3666943223 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The number of elements in the set IneIN:10<n <100 and 3" -3 is a
multiple of T} 1s

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 23 Question Id : 3666943223 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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e (neIN:10<n <100 TUT 3" — 3, 7 &1 U U g} H a4 & &1 8

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 24 Question Id : 3666943224 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If the sum of the series

1.1y (1 1 1) (1 1 1 1],

1 4 . & % 1Y
2-‘-1- 2-:3 : 3 EE ‘ 32 2 h 33 3;1

. _ o
18 —, where @ and £ are co-prime, then a + 3/ 1s equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Question Number : 24 Question Id : 3666943224 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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2 3)\22 2.8 32) \&#® 92.3 2.32 @

1 1 1 1 . 1 J.

Elﬂ?jm% g, o8l a aul f HEHT g, ol &+ 33 e 6:

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 25 Question Id : 3666943225 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Consider the triangles with vertices A(2 1), B(0,0) and C(t, 4),t e [D, -:1]5
[f the maximum and the minimum perimeters of such triangles are obtained
at { =& and ¢ = f respectively, then 6+ 215 1s equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 25 Question Id : 3666943225 Question Type : SA Calculator : None
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
9l A(2,1), B(0,0) @1 C(t, 4). t €[0, 4] F Byl &1 faur S| afs T
Byl & I auT Fad Ui $HE: (= TUT (=4 R UG 814 & o
6+ 218 TR &

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 26 Question Id : 3666943226 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let f(x)=|—— =, ‘J:|-:—h. If £/(0)=0 and f(1)=—tan (—,
. j-{3+4x3)x/4—3,t3 V3 ap .ﬂ]

. ep + "
a, B>0, then @ + B* is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 26 Question Id : 3666943226 Question Type : SA Calculator : None
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0




Py Z _ A =t]
, f‘I\'*«ﬁ%IIﬂ?f{U]_Uﬁiﬂ

1 ]EEI

f(1)= aﬁ-tan'

EJ a, B>08 @ o+ 4> WERE:
\

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

14

Question Number : 27 Question Id : 3666943227 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘2 = 7. ‘ .
If the area bounded by the curve 2y~ = 3x, lines x+ y =43, y =0 and outside

the circle (x —Ei}:E +v* =2 is A, then 4(r+4A) is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 27 Question Id : 3666943227 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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fe g (x—3)"+»* =2 & TR, TP 2y° =3x U W@™H x+y=3, y=0
UREE & PTEAPAA R, T 4(7 +4A) R &

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 28 Question Id : 3666943228 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

. . | 1 . .
Let an ellipse wath centre (1, 0) and latus rectum of length ~ have i1ts major
axis along x-axis. If its minor axis subtends an angle 60° at the foci, then the
square of the sum of the lengths of its minor and major axes 1s equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 28 Question Id : 3666943228 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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M1 U Srdgd, o1 &5 (1, 0) W § ayT Aidd ofid) &1 darg % g, &1 4 318,
x-3H&f & Y g1 afe STHT 7Y 318 g1 A1H W 60° ﬂm;ﬁﬂﬁ?ﬁm
@Y qu oY &l B darsdl & i B aF SER 6

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Question Number : 29 Question Id : 3666943229 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let the plane P contain the line 2x4+ y—2z-3=0=5x—-3y+42z+9 and be

)
.

, x+2 3—3v z- - .
parallel to the line —= f_ —-—— Then the distance of the point
2 — 0 |

: -8 2-=z
A(8, -1, -19) from the plane P measured parallel to the line : = 2 2 - = 5

15 equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 29 Question Id : 3666943229 Question Type : SA Calculator : None

a
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrona Marks : 1




2 33—y z-—
mmwaapmr: :3; *%W%amﬁﬁm

Ox +y—2—-3=0=5x— %y+4z+9@m%|a°rﬁ§

A8, —1, —19) B! THd® P T @I _""rs "'; :f & FHR AT 178 g3

W &

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 30 Question Id : 3666943230 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

If the line x = y = z intersects the line
rsimA+ysmB+zsinC-18=0=xsm2A+ ysin2B+zsm2C -9,

A B {"]

where A, B, (C are the angles of a triangle ABC, then 3() [‘%111? sm? S11 -

—

18 equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 30 Question Id : 3666943230 Question Type : SA Calculator : None
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
qie Wlx = y=2z I

xsinA+ysmB+zsinC-18=0=xsm2A4 + ysin2B+zsm2C -9,

@] BICal 6, 98] A, B, C U& YA ABC &1 S8, dl 80 (amé Sil’lg ﬁmg}
R ¢

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Physics Section A
Section Id : 366694180
Section Number : 3
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Enable Mark as Answered Mark for Review and
Clear Response: ves
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 366694180
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Is Section Default?: null

Question Number : 31 Question Id : 3666943231 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[n a linear Simple Harmonic Motion (SHM)

(A) Restoring force is directly proportional to the displacement.
(B) The acceleration and displacement are opposite in direction.

(C) The velocity is maximum at mean position.

(D) The acceleration is minimum at extreme points.
(Choose the correct answer from the options given below:
Options:

36669410061, V- (B) and (L) Only

36669410062, (L) and (D) only

36669410063, &) (C) and (1)) enly

A). (B) and (D) onlv
36669410064, ) (B and (D) only

Question Number : 31 Question Id : 3666943231 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Udh JE |3 3M1dq i |

(A)  UIHTA g4, [aRa & SHHAMEUI Bl
(B) @l Ud fqwima faudia femmsi # 8 €1

(C) ey RRyfa o 9 Yaiferes gar g

(D)  =RA fagsil W TR YA gl &

I 14U 71U [dereul | ¥ Hel IR g

Options:

ddd (A), (B) Td (C)
36669410061.

&ad (C) U9 (D
36669410062. (R90)

Fad (A), (C) Td (D
36669410063. (A). (© R4 D)

36669410064 $dd (), (B) Td (D)

Question Number : 32 Question Id : 3666943232 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A flask contains Hydrogen and Argon in the ratio 2:1 by mass. The temperature of the
mixture is 30"C. The ratio of average kinetic energy per molecule of the two gases
(K argon/K hydrogen) 1s :

(Given: Atomic Weight of Ar= 39.9)
Options:

7S RS

36669410065, =
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36669410066,

36669410067, 7

o

rmf

36669410068.

Question Number : 32 Question Id : 3666943232 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ush OR H g el Ud 311 19 4l ¢, o goummi &1 3Furd 2:1 81 fyor &1 arosE
30°C &1 11 111 & Ufel Sf0] Y 37 T il &1 SIUTd (Katia/K arssior) ©

(a1 §: Ar &1 WRHI] 4R = 39.9)
Options:

39. 9
366694100065. =

36669410066.

36669410067, "

b

36669410068.

Question Number : 33 Question Id : 3666943233 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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Correct Marks : 4 Wrong Marks : 1

A thermodynamic system is taken through ecyclic process. The total work done in the

pProcess 1s :
)
400 L———-
2 _
]J
(Pa) 100 p---- E,
C| I
| I
) I
——————
2 4
—
Vim")
Options:
36669410069, ~€™°

36669410070, 200

3666941007/1. e

36669410072, 00

Question Number : 33 Question Id : 3666943233 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Udh IWAT® FHrd 1 991 UhH § ERT 9l g1 UhH o féar T o & &:

Options:

36669410069. A

36669410070, =00

36669410071. -y

36669410072. s

Question Number : 34 Question Id : 3666943234 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A wire of length 'L’ and radius 'r 15 clamped ngidly at one end. When the other end of the
wire 18 pulled by a foree /. its length increases by *I'. Another wire of same material of length
2L and radius ‘2r’is pulled by a forece “2f. Then the increase in its length will be :

Options:

36669410073, !

36669410074, =
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36669410075, 3

If2
3666941007/6.

Question Number : 34 Question Id : 3666943234 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

' 9Ts U4 v AT d1ell Big dR 3194 U RR I £gdl Yddh 941 8341 81 Od dR &1 ol
R 99 £ gR1 Tl 91aT §, d 39! avaTs H 7 g 8 Sdl 81 9HE ugrd § &9 2L
TS U 2 a1 91l R 391 UhR | 27 9 gRI Widl oIdl ¢ | 31d @vaTs | dieg g

Options:

36669410073. !

36669410074, 2!

36669410075, X

36669410076, -

Question Number : 35 Question Id : 3666943235 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A body is released from a height equal to the radius (R) of the earth. The velocity of the body

when 1t strikes the surface of the earth will be :
&collegedumaa
India’s largest Student Review Platform
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Options:

3666941007/7.

36669410078.

3666941007/9.

36669410080.

1oR

o | B,

Question Number : 35 Question Id : 3666943235 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gl 31 B (R) & R A ¥ US U F1e1 ol g1 gt & ad | ehrd g fveg

B1 37 8: (A1 § ¢ = Tt R Ty v

Options:

3666941007/7.

3666941007/8.

3666941007/9.

36669410080.

1gR

~
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Question Number : 36 Question Id : 3666943236 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Two 1dentical particles each of mass ‘m’ go round a circle of radius a under the action of their
mutual gravitational attraction. The angular speed of each particle will be :

Options:
GJH
\' 2a”
36669410081.
36669410082.
Gm
\ 8a°
36669410083.

(rm

Eerw—

36669410084, ' ¢

Question Number : 36 Question Id : 3666943236 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

'm GoHH AT 3 UHHHM &, o B & I W URWURS Tdig HYU & Sl
YHd ¢ | Ul S0l $I Hivfig are gr -

Options:

36669410081.
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36669410082.

36669410083.

36669410084.

Question Number : 37 Question Id : 3666943237 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A vector in X — ¥ plane makes an angle of 30" with y-axis. The magnitude of v-component of

vector is 243 . The magnitude of x -component of the vector will be :

Options:

36669410085.

36669410086.

36669410087.

36669410088.

Question Number : 37 Question Id : 3666943237 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

~

Instriictinn Time * 0N

b

£ -
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Correct Marks : 4 Wrong Marks : 1

x—y dd H TP GG y-34 & Y 30° BT B §41G1 ¢| T & y-°2d B TREm]
9,3 8| GG & x -G BT URHAT BIT:

Options:
36669410085, -
36669410086. V3

|
36669410087. V3

36669410088, °

Question Number : 38 Question Id : 3666943238 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The position of a particle related to time is given by x = ‘:.'.'vi.!.E -4 + ﬁ] m . The magnitude of

velocity of the particle at ¢ = 2s will be :

Options:

36669410089, 14 ms!

36669410090, 16 ms

10 ms!

36669410091.

36669410092, 6 ms™
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Question Number : 38 Question Id : 3666943238 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
feel 01 ot Ty & W R = (56 - 4t+5) m GRIE S 1 W =25 R, B A1
tmnmwﬁhm

Options:

36669410089, '+ ms”

36669410090, 10 ms"

— |
36669410091, M

06 ms-!

36669410092.

Question Number : 39 Question Id : 3666943239 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 B e

The speed of a wave produced in water is given by v=2g"p". Where 4, g and p are

wavelength of wave, acceleration due to gravity and density of water respectively. The
values of q, b and ¢ respectively, are

Options:

1, 1, O
36669410093.
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14
36669410094, -

1
E.

1 1
mﬂ-!{-‘]
2 2

36669410095.

36669410096, "

Question Number : 39 Question Id : 3666943239 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

O H I T Dl AT v= 2" GRICI TS 8, 9E] 4, g Ud p HHI: TV T d¥iieH,
o] @0 Ud U 199 8| @, b Ud 1 | HHT: &

Options:

1, 1, O
36669410093.

b | =

36669410094.

o | —

36669410095.

36669410096, =+

Question Number : 40 Question Id : 3666943240 Question Type : MCQ Option Shuffling : Yes Is

Nuestion Mandatorv : No Calcuillatar : None Resnonse Time : N A Think Time:N.A Minimiim
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Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The position vector of a particle related to time ¢ is given by

r={(10¢ i +1 ijjl + 'Ti:*}m

The direction of net force experienced by the particle 1s :

Options:

36669410097, fositivex - axis

36669410098, ©oHhvey -axa

Positive z - axis

36669410099.

In x - ¥ plane

36669410100.

Question Number : 40 Question Id : 3666943240 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

fopdt o1 &1 §Hg & 9y U iew fFgaa &

F=(10ti +15t2) + Tkym
HU R AfRIfg aiondt 9d &1 fiezn g -

Options:

YlHD x - Hd
36669410097.

36669410098, 1P y- I
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S z- 38
36669410099.

x- ydd#H
36669410100.

Question Number : 41 Question Id : 3666943241 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The electric field due to a short electric dipole at a large distance (r) from center of dipole on
the equatorial plane varies with distance as :

Options:

36669410101. 7

36669410102, '

36669410103.

FI

36669410104,

Question Number : 41 Question Id : 3666943241 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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farell faggd fayd & SRU, YHedd! dd #, fgyd & d= 9 98d ¥, W (/) T, [dggd &
ol & 1y fr5ad ufafad gmm -

Options:

1

36669410101, '

1
36669410102. "

1
36669410103,

.
36669410104.

Question Number : 42 Question Id : 3666943242 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
The height of transmitting antenna is 180 m and the height of the receiving antenna is

245 m. The maximum digtance between them for satisfactory communication in line of sight

will be :

(ziven R = 6400 km)
Options:
36669410105, 18km

36669410106, -0 km

36669410107, 0 KM
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36669410108, |04 kM

Question Number : 42 Question Id : 3666943242 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
e e & FI% 180 m UW de e @ 3En

245 m ¢ HalvoHe EPVEN GO0 & iy 39 i &1 siftean gl gl ([ g R =
6400 km):

Options :

36669410105, 18km

36669410106, 0 kM

36669410107, 0 <M

36669410108, [0 kM

Question Number : 43 Question Id : 3666943243 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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In the given eircuit, the current (I} through the battery will be

10 O D,

D, "
: § 100

Options:

36669410109, 194

36669410110, =24

36669410111,

2A
36669410112.

Question Number : 43 Question Id : 3666943243 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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faw e uiygy & &t arelt xRar & yaifgd YR (1) &1 A g1

10 O D,
1042
Y D., )
- 10 O
I(}ﬁ.
N g D,
S
10V

Options :

36669410109.

25 A

36669410110.

36669410111, **

2A
36669410112.

Question Number : 44 Question Id : 3666943244 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The halt-life of a radicactive nucleus 18 5 years. The fraction of the original sample that
would decay in 15 years is:

Options:

|
36669410113, 2
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%0 | =

3
36669410115,

o | =

36669410116.

Question Number : 44 Question Id : 3666943244 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fpalt Ysumided A &i 3G/ 5 a¥ g1 IRdfd® 93 &1 98 I & 15 a8 J &7 gl
ST, 98 &

Options:

|
36669410113, 4

OO0 |

36669410114.

3

36669410115,

T
36669410116,

Question Number : 45 Question Id : 3666943245 Question Type : MCQ Option Shuffling : Yes Is
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The de Broglie wavelength of an electron having kinetic energy E is 4. If the kinetic energy

E

of electron becomes —, then its de-Broglie wavelength will be :

4

Options:

b | &

36669410117.

24
36669410118.

f:]‘ S

36669410119.

=)
366694101 20. V27

Question Number : 45 Question Id : 3666943245 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

E TTfcrel ol aTdl gerae [ Bi St-slTel avTged 4 g1 97 3aaeH & i Sl % gl WL,

Eﬁﬁ'\qﬁlﬁ -1t daTeH GIL
Options:

A
36669410117, =

24
36669410118.
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A
36669410119. J2

24
3666941071 20. J2/

Question Number : 46 Question Id : 3666943246 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A single slit of width a is illuminated by a monochromatic light of wavelength 600 nm. The
value of ‘a’ for which first minimum appears at 8 =30" on the screen will be :

Options:

36669410121, 0 Hm

1.2 um

36669410122.

36669410123, - 4m

36669410124, ° #™

Question Number : 46 Question Id : 3666943246 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

600 nm TTe Jrd [t vhaauil yeTy A 5 TS aren [ v B &) udid fan
Wdl &1 'g $1dg A o v ugal AR 9=30 MU Bldie 98 &
&collegeduniaa
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0.6 um
36669410121.

1.2 um

36669410122.

1.8 ym

36669410123.

36669410124, ° 4™

Question Number : 47 Question Id : 3666943247 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List 1l of Electromagnetic waves with corresponding wavelength range :

List 1 List 11
(A) Microwave () 400 nm to 1 nm
(B) Ultraviolet (II) 1 nm to 10~ nm
(C) X-Ray (I1I) 1 mm to 700 nm
(D) Infra-red (IN) 0.1 mto ]l mm

Choose the correct answer from the options given below:
Options:

36669410125, (A)-(T). (B)-(AV), (C)-(1D), (D)-(IIT)

36669410126. (A)-(IV), (B)-(1D), (C)-(I). (D)-(ILI)

36669410127, A-(IV), (B)-(I), (C)-(IT), (D)-(111)

36669410128, -1V (B)-(). (C)-(D), (D)-(11)
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Question Number : 47 Question Id : 3666943247 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
gt | | & fagyagrae ta i & e gt o 8 i g 3t Wira et 9 sifo
Tl | el

(A) ﬂﬂ?ﬁﬂ () 400 nmto 1T nm
(B) U&THI () 1 nmto 10~ nm
(C) X-Tduf (1) 1 mm to 700 nm
(D) Sdddd (IV) 0.1mto 1 mm
Ad U U [ddhedf J § Hel IR I

Options:

36669410125 (A=), (B)-(IV), (C)-(1I), (D)-(111)
36669410126, A)-(IV), (B)-(1D), (C)-(1), (D)-(I1I)
36660410127 A)-(IV), (B)-(I), (C)-(IT), (D)-(111)

36669410128 W-UV), (B)-(1), (C)-(11D), (D)-(11)

Question Number : 48 Question Id : 3666943248 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A 12 V battery connected to a coil of resistance 6 () through a switch, drives a constant
current in the eircuit. The switch 18 opened 1n 1 ms. The emf induced across the coil 158 20 V.

The inductance of the coil 18 :
&collegedumas
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Options:

36669410129, o mH

36669410130, © ™H

36669410131, 0 mH

12 mH
36669410132.

Question Number : 48 Question Id : 3666943248 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

U 12 V dlell dcl B 6 O UicRIY drell dgell | U duil b g Gils] Wl 8, o ulvoy
¥ (gd uR1 ydifed gl €1 1 ms 990 H il 1 @id f&ar Srar g1 dsat § uikd fagyd
dle® §d &1 UM 20 V €, 4l dadl &1 IRPd &

Options:

36669410129, 9 mH

36669410130, °™H

36669410131, 0 mH

12 mH
36669410132.

Ouestion Number : 49 Ouestion Id : 3666943249 Question Tvbe : MCO Obtion Shufflina : Yes Is
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

For designing a voltmeter of range 50 V and an ammeter of range 10 mA using a
galvanometer which has a coil of resistance 54 {) showing a full scale deflection for 1 mA as
in figure.

I mA ~ 510 i
—

31 1AY
| s

| mA 54 0
— ’T:\ : —
N
"
M

(A)  for voltmeter R =50kQ)

(B) for ammeterr = 0.20)

(()  for ammeterr =60
(D)  for voltmeter R =5k()
(E)  for voltmeter K =500 £2

(Choose the correct answer from the options given below:
Options :

36669410133, (&) and (C)

36669410134, W) and (B)

36669410135, ') and (D)

36669410136, ) and (E)

Question Number : 49 Question Id : 3666943249 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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yefeid i & SR YR &1 Udiv Hd fSad! gl &1 ufally 54 Q8 U6 1 mA |
quf /9% &Y USRid X1 &, 50 v % HIY Wb aral f[AHgHdt Td 10 mA 9@ HIY 9
drell SfHie} §9F & fau:

| mA 540 it

SIUAY
_.u ol B N
1 mA 54 O
= @ 3] € .
Sl
§
AN

(A)  [AYaHETI P [T R = 50kO
B) SHIREMTr~ 020

() [aYaHNl & U r = 6Q
D) RYIANF R R=5k0
(B TauEHl & Rl R~ 500 Q

A [<U TTY faeedl | ¥ Hel IR 4.
Options :

36669410133. bl

36669410134. A9 E)

(C) Td (D)
36669410135.

(C) ¥ (E)
366694101 36.

Question Number : 50 Question Id : 3666943250 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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Correct Marks : 4 Wrong Marks : 1

(7iven below are two statements:

Statement | . The equivalent resistance of resistors in a series combination is smaller

than least resistance used in the combination.

Statement 11 :  The resistivity of the material is independent of temperature.

In the light of the above statements, choose the correct answer from the options given below :
Options:

36669410137, Both Statement [ and Statement Il are true

36669410138, Both Statement 1 and Statement 11 are false

36669410139 Statement [ is true but Statement 11 is false

Statement I is false but Statement 11 is true

36669410140.

Question Number : 50 Question Id : 3666943250 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Y | : 4Uil shH H FYIoId WicRIYT &1 e WiaR1Y, G | o gAaH UicRiY 9 BieT gidl
gl

HYF 11 : U214 $t ufcRiysar aE R AR 98 i 81
Suad HYAT & e H, A4 fau e fadedl § 9§ walfde Iuge S g4

Options:
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Y | U4 HYF 1| S Jel &1
26660410138 PUT 1 T U 1l ST T e

36669410130, PUT 1 el € U HYU 1l 71efd ¢

&Y | TTeld § W] Y 1| WEl

36669410140.

Physics Section B
Section Id : 366694181
Section Number: 4
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Enable Mark as Answered Mark for Review and
Clear Response : ves
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 366694181
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 51 Question Id : 3666943251 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 4 Wrong Marks : 1

The fundamental frequency of vibration of a string stretched between two rigid support is
50 Hz. The mass of the string is 18 g and its linear mass density is 20 g/m. The speed of the
transverse waves so produced in the string 1s ms

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 51 Question Id : 3666943251 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
al G MYRT & dig fal Uch TR & A B Hd Gﬂq&[ (Fundamental Frequency) 50 Hz %l
TR T YR 18 g U4 3HHI TWIT %01 99 20 g/m &
T A I SR T @ 9 ms™ 8

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 52 Question Id : 3666943252 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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There 1s an air bubble of radius 1.0 mm in a liquid of surface tension 0.075 Nm! and density
1000 kg m™ at a depth of 10 em below the free surface. The amount by which the pressure
inside the bubble is greater than the atmospheric pressure is Pa (g=10 ms™®)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 52 Question Id : 3666943252 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
0,075 Nm™' g T1d Ud 1000 kg m™ - dTdl fbHl 59 & Had de 9 10 cm D g3 W
U 1.0 mm 3501 91601 U qaqal 1 59 7 € gadd & 3igr &1 g6, Iidaruiig g 9§
el €, 98 AF Pag (g =10ms?|

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 53 Question Id : 3666943253 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A solid sphere and a solid cylinder of same mass and radius are rolling on a horizontal
surface without slipping. The ratio of their radius of gyrations respectively (ksph @ kat) 18

2 -.E The value of x is
-]
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Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 53 Question Id : 3666943253 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
UM SoaHH Ud Bl 91d, U 319 TMidl Ud U 319 da, fbdt afds ad w famr g
qed T8 ¢! 3D YU i BTSN BT U (ke © ky) 2:4x 81 x PTHA
gl

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 54 Question Id : 3666943254 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A block of mass 10 kg is moving along x-axis under the action of force F =5x N . The work
done by the force in moving the block from x = 2m to 4m will be .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal
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Text Areas : PlainText

Possible Answers :

10

Question Number : 54 Question Id : 3666943254 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

10 kg GOUHM 91d U T[cdh W F =5x N & x A& & QY fhari=ad 81 x=2m ¥ 4m
e Ted &1 Ia & fofe, g R fobar a1 s I

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 55 Question Id : 3666943255 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In the given figure the total charge stored in the combination of capacitors 18 100 4 C. The

value of ‘x" 1s
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 55 Question Id : 3666943255 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
feu U oz ©, el & Sdieq | S ged Sa9 100 #C 81 '« &1 4
g

Ci=2pk

Co=x pk¥

Co=a uk

— V=10V —

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10
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Question Number : 56 Question Id : 3666943256 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

As per given figure A, B and C are the first, second and third excited energy levels of
. 4 : Al B

hydrogen atom respectively. If the ratio of the two wavelengths (u'. ;—‘1) 15 IL then the
L A dn

value of n will be

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 56 Question Id : 3666943256 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a
&collegedumaa
India’s largest Student Review Platform

S



fau MU MR 4 8Ud ¢ BI23IeH WHIY & HHY: WyH, fgdia d gedig 3afd Sl &R
%lﬁaﬁﬁiﬁmw[m%}uﬁriaﬁnmmm |

4dn

\ pA

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 57 Question Id : 3666943257 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The refractive index of a transparent liquid filled in an equilateral hollow prism is J2 . The
angle of minimum deviation for the hquid will be *'

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10
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Question Number : 57 Question Id : 3666943257 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ud GHEE Wiad Ued H 2 3uadHid aral &g YRS d M1 g3 ¢ | &d & forg gFan
EEREEIL ° (IS &P

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 58 Question Id : 3666943258 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A 20 em long metallic rod is rotated with 210 rpm about an axis normal to the rod passing
through its one end. The other end of the rod is in contact with a circular metallic ring. A
constant and uniform magnetic field 0.2T parallel to the axis exists everywhere. The emf
developed between the centre and the ring 1s mV.

22

T

Take r=

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 58 Question Id : 3666943258 Question Type : SA Calculator : None

a
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Correct Marks : 4 Wrong Marks : 1

20 cm ol U Ui @8, 210 rpm Pl G H fbdl ofef & ot g @l g, Wi fb s &
iddd g Ud 39 Udh R ¥ TR @l ¢1 @8 &1 g RRT U6 quidR Yifds S &
s H 81 Blg 0.2T BT UHTHM Ud WK TraH1d &7, & & TR 947 [demH 81 F=
Ud el & |l mV [9g4d 918d &d I4d gl

9

-

-~
| T

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 59 Question Id : 3666943259 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

An election in a hydrogen atom revolves around its nucleus with a speed of 6.76 x 10% ms ! in
an orbit of radius 0.52 A”. The magnetic field produced at the nucleus of the hydrogen
atom is 1,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 59 Question Id : 3666943259 Question Type : SA Calculator : None
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0




Correct Marks : 4 Wrong Marks : 1

EIRgIoH TR ¥ U 30acH G & IR OR 0.52 A° BT ae 81 H 676 x 10° ms”
Bl T A A ¢ BRI WAN] & NG W IWEA TP & F A
i

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 60 Question Id : 3666943260 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A network of four resistances 1s connected to 9 V battery, as shown in figure. The magnmtude
of voltage difference between the points A and B 1s V.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

TavE Avaac » DIainTavt
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Possible Answers :

10

Question Number : 60 Question Id : 3666943260 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IR iR & Aedd ¥ 9v @I o¢1 RFFAR Sl €5 ¢l fog A td B & o9 fqyamR
V&l

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Chemistry Section A

Section Id : 366694182
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Section Number:
Section type:
Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Is Section Default?:

5

Online
Mandatory
20

20

80

Yes

0

1
366694182
Yes

null

Question Number : 61 Question Id : 3666943261 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following expressions is correct in case of a CsCl] unit cell (edge length ‘a’)?

Options:
fes* T o =4
36669410151.
r ‘3 -
ot o T
36669410152. V2
o3
Lot F T~ =52
36669410153. =
i _d
et T T
RAAA041N154 =
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Question Number : 61 Question Id : 3666943261 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

g ® O S 91 GHIH CsCl Uhd HITND] (BR TS ‘a’) & o Tal 2

Options:

Yosr ¥ T =9
36669410151.
r. .+ "
et Tor T
36669410152. J:
43
Yoy oo~ =8
36669410153. | =
* - a
toat T Eor = 9
36669410154,

Question Number : 62 Question Id : 3666943262 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements:

Statement | . According to Bohr's model of hydrogen atom, the angular momentum of

an electron in a given stationary state 1s quantised.

Statement 11 . The concept of electron in Bohr's orbit, violates the Heisenberg

uncertainty principle,

In the light of the above statements, choose the most appropriate answer from the options

given below:

~

S
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Options:

36669410155 Both Statement I and Statement 1l are correct

Both Statement | and Statement 1l are incorrect

36669410156.

Statement 1 18 correct but Statement 11 18 incorrect

36669410157.

Statement I 18 incorrect but Statement 11 18 correct

36669410158.

Question Number : 62 Question Id : 3666943262 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y RGN WHY & §R Hisd & STER, fHdl Wl Far 7 seiwiq @
$ivfig G Hidled g |

PN ;. IR BT IAa B Gheul, gRoHa & A Rigid &1 ureH 8
HA ¢ |

IuYE HYAT & e H, A1 3 v fasedt A 4 waifies IJuged 3w 39

Options:

36669410155, @Y | Td HYA 1| G Hel

36669410156. Y | Ud HUA I THT 1A €

36669410157, T | Fel & U= Y 1| T7d & |
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pYA | TTeld & U Py [ ¥ |
36669410158. ¢ el e

Question Number : 63 Question Id : 3666943263 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Congider the following statements:

(A) NF: molecule has a trigonal planar structure.
(B) Bond length of N2 1s shorter than Oz,
(C) Ispelectronic molecules or 10ns have 1dentical bond order.

(D) Dipole moment of H:S 1s higher than that of water molecule.
(Choose the correct answer from the options given below:
Options:

366690410159 ) and (B) are correct

(B) and (C) are correct

36669410160.

36669410161 () and (D)) are correct

(A) and (D) are correct
36669410162.

Question Number : 63 Question Id : 3666943263 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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MY FYFT R [dTR &

(A)  NF; 30 & By gHdda S99 8|

(B) N, I TE+ ATy, O, I o1 H BIc! ¢

(C) HHSUSENAD U T T B TE HIfc Uh A Bl & |
(D) OId & HU[ B Al H H.S F1 fgyd el sifeies giar g

A1 2w U Reedt 7 § 9 3w 9.
Options:

36669410159, (A) T (B) Tl &

36669410160, B W Q) WEIE

(C) Ud (D) W&l g

36669410161.

(A) U4 (D) TRl ®

36669410162.

Question Number : 64 Question Id : 3666943264 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

Which of the following statement(s) is/are correct?

(A)  The pH of 1 x 10-* M HCI solution is 8.

(B)  The conjugate base of H,PO, 1s l-[PU':*_

(C) K, increazes with increase in temperature.

(D)  When a solution of a weak monoprotic acid is titrated against a strong base at half

' ; . -4
neutralisation point, pH = . Pk, .

(Choose the correct answer from the options given below:

Options:

]
gcollegedunlas
India’s largest Student Review Platform

S



(&), (B), (C)

36669410164, (2 (©): ()

36669410165, 2 (©)

36669410166, M- (D)

Question Number : 64 Question Id : 3666943264 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e 1 9 11 91/ HYE HEl 887
(A) 1 x10°M HCl fda53 &1 pH 8 B
(8) H,PO, PTG &R HPO® B
(©) K1 HH AUHA dig & H1Y Igal g |
(D) U6 U gad HIFMIRS 3 & [ &1 U Uad &R & 9y iU fdsan o ¢
ar 3 IR fig W pH:ép]{ﬁ_

A1 14U 0 fdshedi # ¥ Fel I I:
Options:

36669410163, ) (B)-(©)

36669410164, () (1)

36669410165, 2 ()
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36669410166, > (1)

Question Number : 65 Question Id : 3666943265 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which one of the following 18 not an example of calcination?

Options:

Fe,O, - xH,0—2—5Fe O, +xH,0

36669410167.

CaCQ,——Ca0+ CO,
36669410168, | .

CaCQ, - MgCO, —2—Ca0+ MgO+ 2CO,
366694101609. ' J

2PbS+ 30, ——2Pb0 + 280,

366694101 70.

Question Number : 65 Question Id : 3666943265 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
9 & 4 14 A9 &1 U IeTeR0 781 87
Options:

Fe,0. - xH,0—2>Fe 0. + xH,0

36669410167.
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CaCO,——Ca0+CO,

36669410168.
CaCQ, - MgCQ, —2—Ca0+MgO+2C0O,
36669410169. 3
2PhS+ 30, —=— 2P| 280,
SEABA BT, PbS+ 30, —2—2Pb0+2S0,

Question Number : 66 Question Id : 3666943266 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
During water-gas shift reaction

Options:

36669410171 carbon is oxidized to carbon monoxide.

carbon monoxide 1s oxidized to ecarbon dioxide.

36669410172.

36669410173 carbon dioxide 18 reduced to carbon monoxade.

water is evaporated in presence of catalyst.

366694101 74.

Question Number : 66 Question Id : 3666943266 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
3R g HI:EI IEIE R (water-gas shift reaction) & SN —
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Options:

36669410171, PIE BT Dl HHAIHRIES H SHiaiiHor gl ¢ |

36669410172. P AFTSHIGITSS &1 H1a- SHHlass H faiidur gl ¢ |

36669410173, 6 ST ATZS BT Hle HIAISHFHES H U §iell ¢ |

IS P IJUfUTT H Fd &1 99 eiaT &
36669410174.

Question Number : 67 Question Id : 3666943267 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements: One 15 labelled as Assertion A and the other 1s labelled as
Reason R :

Assertion (A) :  BeCl: and MgCl: produce characteristic flame

Reason (R) : The excitation energy is high in BeCl: and MgCl.
In the light of the above statements, chooze the correct answer from the options given below :
Options:

Both (A) and (R) are true and (R) is the correct explanation of (A)

36669410175.
Both (A) and (E) are true but (R) 1s NOT the correct E"Kpfanatinn of (A)

36669410176.

36669410177, ¢V 18 true but (K)1s false

(A) 18 false but (R) 18 true

]
gcollegedunlas
India’s largest Student Review Platform

S



Question Number : 67 Question Id : 3666943267 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

4 31 $YA U T §, U &1 Y (A) Ud GO &I &RUI (R) el T 6

3{fHSHYT (A) : BeCl, Td MgCl, TN&fUS Sarell Icdd &id o |
®RU(R):  BeCl, Td MgCl, H 30oHl 8q 39l &1 HH 314 g

IqY HYAT F UHTY 1, 9 fau 7 fawedl § 9 98 SR I

Options:
36669410175. (A) Td (R) I WEl & U1 (A) P1 el RS (R) ©
seecoatoize, W T R) Il Wal § duT (A) S Hel SRS (R) 78l &

36660410177, () 1 ¢ IR (R) TTeTd &

26660410178, (A T & TR (R) Wel B

Question Number : 68 Question Id : 3666943268 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For a good quality cement, the ratio of silica to alumina is found to be
Options:

36669410179,
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36669410180, *

=1

36669410181, *-

36669410182, -

Question Number : 68 Question Id : 3666943268 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Udh 3f=3] Tuiadl ara dide & fore, fRfereT ud uefirn &1 sfurd urar /1 g

Options:

36669410179,

36669410180,

36669410181, 9

2

36669410182.

Question Number : 69 Question Id : 3666943269 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The number of P— O — P bonds in H,P,O., (HPO,), and P,0,, are respectively

a
&collegedumaa
India’s largest Student Review Platform

S



Options:

36669410183, = *
36669410184, > "

36669410185.

36669410186, > °

Question Number : 69 Question Id : 3666943269 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
H,P,O.. (HPO,), T P,0,, H P -0 - P 3Ta~] Pl Y& T, HH: -

Options:

36669410183, U *
36669410184, 03 6

36669410185.

36669410186, "

Question Number : 70 Question Id : 3666943270 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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Correct Marks : 4 Wrong Marks : 1

The complex with highest magnitude of erystal field splitting energy (A, ) 1s

Options:

36669410187/.

36669410188.

36669410189.

36669410190.

[Ti(OH,),]*

[Mn(OH, ), ]*

[Fe(OH,, )] ™

Question Number : 70 Question Id : 3666943270 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3ifrereH fepved &1 faures IS (a,,) ATeN WP &

Options:

36669410187.

36669410188.

36669410189.

36669410190.

[IT1 { OH z _:'.;.‘; ] o

[Mn(OH, ), ]

[FE{OHE }q‘j ] o

~
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Question Number : 71 Question Id : 3666943271 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
The possibility of photochemieal smog tormation will be mimimum at

Options:

New-Delhi in August (Summer)

36669410191.

sSrinagar, Jammu and Kashmir in January

36669410192.

36669410193. Mumbai in May

36669410194 Kolkata in October

Question Number : 71 Question Id : 3666943271 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TR IS YH-BIeX b (A1 B HHIGAT AT gl -

Options:
26660410191 T () - 5 foeedl A
SeEE0AT0 gy, T, SR 3R HYHR A

DCCCNA1TN1TINT)
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S - g A

HF R — Fabdl H
36669410194.

Question Number : 72 Question Id : 3666943272 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
0

H.,O X
() ~ > ‘A

major product

0

‘A’ formed in the above reaction is

Options :

36669410195.

36669410196.

OH  OH

N rrrnaA1nN1nTy U
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36669410198.

Question Number : 72 Question Id : 3666943272 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

H,0 |
- > A

major product

Iwad ifufear 7 fAfffa ‘A &

Options:

36669410195.
OH
N
| 0
C‘qxv/f
OH
36669410196
36669410197.
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36669410198.

()

OH
OH

Question Number : 73 Question Id : 3666943273 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Decreasing order of reactivity towards electrophilic substitution for the following

compounds 18 |

CH,
o

OCH,

@ @ CF, @

(a) (b)
Options:
36669410199.

36669410200.

36669410201.

36669410202.

a>d=e>b>c

e>d=a=h>r

d>a=e>c=>h

c>b>a>d>=e

(d)

NMe,

~

S
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Question Number : 73 Question Id : 3666943273 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
g il & foe, goaei= |el uforura sififranad & ufa, siftferardicar &1 9ea #4 &:

OCH, NMe,

(a) (b) (c) (d) (e)

Options:

a>d>e>b>c

36669410199.

e>d>a>b>c

36669410200.

d>a>e>ec>b

36669410201.

c=h=a>d>=e

36669410202.

Question Number : 74 Question Id : 3666943274 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The major product formed in the Friedel-Craft acylation of chlorobenzene 1s
Options:

36669410203.
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Cl
0° CH,
36669410204, '
36669410205.
(']
: COCH,
COCH,,
36669410206. |

Question Number : 74 Question Id : 3666943274 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FAR Aol & HISd-HIIeY T (acylation) ¥ & JMIE

Options:

36669410203.
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H,

Cl
0° CH,
36669410204, '
36669410205.
(']
: COCH,
COCH,,
36669410206. |

Question Number : 75 Question Id : 3666943275 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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CH, COOH

d {_J\’;Hr

> > |

y
INC), (]

A

In the above conversion the correct sequence of reagents to be added 1s

Options :

36669410207, Brz/Fe, (ii) Fe/H*, (iii) KMnO, (iv) Cl

36669410208. (1) KMnQ,, (ii) Bro/Fe, (ii1) Fe/H+, (iv) Cl:

(i) Bro/Fe, (ii) Fe/H*, (iii) HONO, (iv) CuCl, (v) KMnO:
36669410209.

(1) Fe/H*, (1) HONOQO, (111) CuCl, (1v) KMnQO4, (v) Brez
36669410210.

Question Number : 75 Question Id : 3666943275 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

CH, COOH

{f]\fﬂr
|

ﬁ/

C]

NO.

V:

JUYad Uiida- § Iudn iU e sifide] &1 el HH ¢

Nnfinneg
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36669410207

36669410208

36669410209

(1) Bro/Fe, (1) Fe/H*, (n1) KMnQO g, (1v) Cl:

(i) KMnO,, (i) Bro/Fe, (iii) Fe/H*, (iv) Cl.

(i) Bro/Fe, (ii) Fe/H*, (iii) HONO, (iv) CuCl (v) KMnO:

(1) Fe/H*, (1) HONO, (111) CuCl, (1v) KMnQO1, (v) Brz
36669410210.

Question Number : 76 Question Id : 3666943276 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The product formed in the following multistep reaction is :

1) BzHe

i) HaOs, NaOH
) PCC

1V) CH:*;D!‘IEEI"

CH, -CH=CH.

Options:

36669410211.

36669410212.

36669410213.

2CcCcCcNA1nN711 A

IISIH

CH, -C-CH,

|
CH

3

iI'JH

CH, -CH, -CH-CH,

O
|

CH, -CH, -C-0OCH,

~

S
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CH, -CH, -CH, —-CH, -OH

Question Number : 76 Question Id : 3666943276 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S S R T
1) BaHg

ii) H202, NaOH
. —_—
CH, -CH=CH, iii) PCC

iv) CH:MgBr

Options:
OH
|
{HL—F—CHH
36669410211, CH,
PH
36660410212, e Ui Li-Uh
O
|
CH, -CH, -C-0CH,
36669410213. ]
CH, -CH, -CH, -CH, -OH
36669410214.

Question Number : 77 Question Id : 3666943277 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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(Consider the following sequence of reactions:

NaNO, <> N, N-Dimethylaniline .
L } ) }
_ 0-5C
NH,

The product "B’ 1s

Options:

36669410215.

CH.
Oy O
| NCH,

36669410216.

36669410217.

CH,
H, NHNN{:
| {‘ ﬂl:

36669410218.

Question Number : 77 Question Id : 3666943277 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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HIHIHTTH & 9 HH W [daR

NaNO, .4 N, N-Dimethylaniline ..
d >

- >

NH,

EﬁﬂFITTi%
Options :

! | )

36669410215 '

CH.

@N _N :k:hf' ‘l'
| NCH.

I H v

36669410216

<:;}}_ Y

36669410217

CH,
115HHH¢—44!!B}—{‘!!F}—AH(:
CH,

36669410218.

Question Number : 78 Question Id : 3666943278 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Mateh Last I with List 11

List I - (Monomer) List Il — (Polymer)
(A) Tetrafluoroethene (I) Orlon
(B) Acrvlonitrile (II) Natural rubber
(C) Caprolactam (1II) Teflon
(D)) Isoprene (IV) Nylon-6

(Choose the correct answer from the options given below :

Options:

36669410219, A-(11), (B)-(I), (C)-(1V), (1)-(11)

36669410220, A-(ID, (B)-(IV), (C)-(ID), (D)-(I)

36669410221, A-(ID), (B)-(ID), (C)-(AV). (D)-(D)

36669410222 W-IV). (B)-(D), (C)-(1D). (D)-(I1I)

Question Number : 78 Question Id : 3666943278 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Tl | HT HEE =l 1

Tl | - (THa) 1 1l - (T5EP)
(A)  CETHRIHRICYH ()  SiRE
(8) UfsTIZCZd (1) WPl IaR
(C) PURH (1) ewHaE
(D) SMTSHMH (V) AZdAH-6
Hid fdu e fdeedl # ¥ Uel IR 94

Options:

26660410210  (A)-(1TL), (B)-(1), (C)-(IV), (1)-(11)
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36669410220 (A)-(IIT), (B)-(IV), (C)-(1I), (ID)-(I)

36669410221, W-ID. (B)-ID. (©)-(AV), D))

36669410222. (A)-(IV), (B)-(1), (C)-(II), (D)-(I1I)

Question Number : 79 Question Id : 3666943279 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which is not true for arginine”

Options:

36669410223 It 1s a crystalline solid.

It has high solubility in benzene.

36669410224.

36669410225 It has a fairly high melting point.

It 1s associated with more than one pK. values.

36669410226.

Question Number : 79 Question Id : 3666943279 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3o & fore &1 uel 78l €2
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Options:

36669410223, T8 U® forkedita 314 &

36669410224, ° A 3 U] T 3 &

36669410225, 91 Tai® I &1

P U U 9 3 pK. AF B
36669410226.

Question Number : 80 Question Id : 3666943280 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which of the following statement i1s correct for paper chromatography?
Options:

Paper sheet forms the stationary phase.

36669410227.

Water present in the pores of the paper forms the stationary phase.

36669410228.

36669410229 Paper and water present in its pores together form the stationary phase.

Water present in the mobile phase gets absorbed by the paper which then forms the
stationary phase.

36669410230.

Question Number : 80 Question Id : 3666943280 Question Type : MCQ Option Shuffling : Yes Is
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U0 HIHCHGT (BT dufeiad) & Had # 9§ 3 &9 91 Y 97 87
Options :
- TR e fRR R 31 P S &

36669410227

26669410008 TR & gl 7 Jufeyd e FRR a1 &1 &1 Hd1 8 |

UUR Ud I [wsl H IURd ofd R UIawRIT &1 & $dl g
36669410229.

TicreiTer UrareT 7 ORI ST B TR GRI (AN {1 STl €, S ofd RR Jraw
36669410230, P! PId B &I

Chemistry Section B

SectionId : 366694183
Section Number : 6

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks: 20

Enable Mark as Answered Mark for Review and

Clear Response: ves
Maximum Instruction Time : 0

Cithh Cartian Ritrmhayr - 1
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Sub-Section Id : 366694183
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 81 Question Id : 3666943281 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The volume (in mL) of 0.1 M AgNQs required for complete precipitation of chloride ions
present in 20 mL of 0.01 M solution of [{‘31'{ I-I._..lfJ'}_,?r[l‘l](l':l2 as sllver chloride 1s

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 81 Question Id : 3666943281 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

[Cr(H,0).cljcl, F 0.01 M a8 & 20 mL 3O # IURT FRZS I & e
FARZS & ¥ H YUl 3{d&Y0I gq 0.1 M AgNO3 &1 S G (mL H) &

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10
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Question Number : 82 Question Id : 3666943282 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

30.4 ke of heat 15 required to melt one mole of sodium chloride and the entropy change at the
melting point i1s 284 J K mol! at 1 atm. The melting point of sodium chloride is
K (Nearest Integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 82 Question Id : 3666943282 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U i TIfSad FR1SS & U 8q 30.4 ki I &1 3TILGHd il € 74T 1 atm Id TR
Taid W U=l uiadq 284 J K mol' &1 WU FRES &1 Tadid &
K (Fean quris )

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 83 Question Id : 3666943283 Question Type : SA Calculator : None
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1




The vapour pressure of 30% (w/v) agqueous solution of glucose 1s mm Hg at
26°C.

[Given : The density of 30% (w/v), aqueous solution of glucose is 1.2 g em™ and vapour
pressure of pure water 12 24 mm Hg ||

(Molar mass of glucose 1s 180 g mol-1.)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Question Number : 83 Question Id : 3666943283 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

25°C W TGP & T faaqaT 30% (w/v) T % 16 &: mm Hg
o1 7191 § : TP & S e 30% (w/v) BT EAE 1.2 g em dYT Y& Sl 1 a1 3T
demHg%

(@Y P HITR FHM 180 g mol™' 8)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 84 Question Id : 3666943284 Question Type : SA Calculator : None
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0




The number of correct statements from the following 1s

(A)  Conductivity always decreases with decrease in concentration for both strong and
weak electrolytes.

(B) The number of 1ons per unit volume that carry current in a solution increases on
dilution.

(C)  Molar conductivity increases with decrease in concentration.
(D)  The variation in molar conductivity 1s different for strong and weak electrolytes.

(E)  For weak electrolytes, the change in molar conductivity with dilution 18 due to
decrease in degree of dissociation.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 84 Question Id : 3666943284 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g 1 9§ 9el dyHl 3 GE1 B

(A)  Ved U4 god fdggd sroued! aFl & e, arsar § &l 9 Irddar § Wad ST Tl
g

(B) ol deM & WY, faagd # fdggd YR 984 X did AT P §E ufd 3as
HIGH, Tl ¢

(C)  radl H &H d Ty HieR 91cddl H 3ia gidi o

(D) V&d Ud gd fdggd sruuedl & foe AR Iradar # uRaad fia-fiw g 8|

(B) Tdd f[dggd Mgl & U, a9d1 & 91y HieR diadal § uRdad 39 fadieH &
39 7 $H & RO gl ¢

Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count : Yes
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Text Areas : PlainText

Possible Answers :

10

Question Number : 85 Question Id : 3666943285 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

E " . h . j = . &
For a reversible reaction A =< B, the AH; . .. =20kJ mol™". The activation energy

of the uncatalysed forward reaction is 300 kJ mol-. When the reaction is catalysed keeping
the reactant concentration same, the rate of the catalysed forward reaction at 27°C is found
to be same as that of the uncatalysed reaction at 327°C. The activation energy of the
catalysed backward reaction is ke mol-'.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 85 Question Id : 3666943285 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Johuig il A=BF T AH, __, . .. =20k]mol™ Bl I IS & 34

3iffar & for Qfdgur Foit 300 k) mol™ B1 HTHBRE] B Wil GHH T&d U od
T B IIRS & Y JHIfed fFaT el 8, @ 27°C W IR 3/ ifufehar $1 1
327°C WR {1 IaR® & 3ifvfehar & gaF urdt 91l 81 I uy sifwfesar &1 afehgur I«
g k) mol™’.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Tvpe : Eaual

]
&collegedumas
India’s largest Student Review Platform

S



Text Areas : PlainText

Possible Answers :

10

Question Number : 86 Question Id : 3666943286 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

20 mL of 0.5 M NaC(Cl is required to coagulate 200 mL of As,5, solution in 2 hours. The

coagulating value of Na(Cl is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 86 Question Id : 3666943286 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

As,S, @ 200 mL fd0g9 ®1 2 9¢ H Whidd B & o0 0.5 M NaCl & 20 mL DT I Hdl
ygdl 21 NaCl &1 @hed 9 &:

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10
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Question Number : 87 Question Id : 3666943287 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The total number of isoelectronie species from the given set is

O*,F, Al,L Mg*" ,Na",0",Mg,Al" ,F

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 87 Question Id : 3666943287 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fau U ¥ ¥ gHgdaciHe WiLlid & o 9811 6:

0% F-, Al, Mg?* Na*,0", Mg, Al**.F

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 88 Question Id : 3666943288 Question Type : SA Calculator : None
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1




The total change in the oxidation state of manganese involved in the reaction of KMnO; and
potassium iodide in the acidic medium is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 88 Question Id : 3666943288 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3 WIEH § KMnOs Td TIelRTH marerEs & sfufsrar # 2ie 31 sifadidron saw
T g3f e URad &

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 89 Question Id : 3666943289 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The homoleptic and octahedral complex of Co™ and H,0 has unpaired

electron(s) in the ty, set of orbitals.

Response Type : Numeric

Evaluation Required For SA : Yes
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Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Question Number : 89 Question Id : 3666943289 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Co?* Td H,0 & WY P gHIAD® Ud sphasy UFd # $a@] & ¢, I¢ | Juid
3 S &

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 90 Question Id : 3666943290 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In Chromyl chloride, the oxidation state of chromium 1s (+)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :
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Question Number : 90 Question Id : 3666943290 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

hIfHT FIRIES H PIFTH B TR0 3aRT B: (+)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

14
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